Lista 3
1 - Demand for concave utility meters is expanding rapidly, but the industry is highly competitive. A utility meter plant costs $50 million to set up, and it has an annual capacity of 500,000 meters. The production cost is $5 per meter, and this cost is not expected to change. The machines have an indefinite physical life and the cost of capital is 10 percent. What is the competitive price of a utility meter?

a. $5 b. $10 c. $15
2  - The manufacture of polysyllabic acid is a competitive industry. Most plants have an annual output of 100,000 tons. Operating costs are $.90 a ton, and the sales price is $1 a ton. A100,000-ton plant costs $100,000 and has an indefinite life. Its current scrap value of $60,000 is expected to decline to $57,900 over the next two years. Phlogiston, Inc., proposes to invest $100,000 in a plant that employs a new low-cost process to manufacture polysyllabic acid. The plant has the same capacity as existing units, but operating costs are $.85 a ton. Phlogiston estimates that it has two years’ lead over each of its rivals in use of the process but is unable to build any more plants itself before year 2. Also it believes that demand over the next two years is likely to be sluggish and that its new plant will therefore cause temporary overcapacity. You can assume that there are no taxes and that the cost of capital is 10 percent. 

a. By the end of year 2, the prospective increase in acid demand will require the construction of several new plants using the Phlogiston process. What is the likely NPV of such plants?

b. What does that imply for the price of polysyllabic acid in year 3 and beyond?

c. Would you expect existing plant to be scrapped in year 2? How would your answer differ if scrap value were $40,000 or $80,000?

d. The acid plants of United Alchemists, Inc., have been fully depreciated. Can it operate them profitably after year 2?

e. Acidosis, Inc., purchased a new plant last year for $100,000 and is writing it down by $10,000 a year. Should it scrap this plant in year 2?

f. What would be the NPV of Phlogiston’s venture?

3. Suppose that you are considering investing in an asset for which there is a reasonably

good secondary market. Specifically, you’re Delta Airlines, and the asset is a Boeing

757—a widely used airplane. How does the presence of a secondary market simplify

your problem in principle? Do you think these simplifications could be realized in practice?

Explain.
4. Suppose the current price of gold is $280 per ounce. Hotshot Consultants advises you

that gold prices will increase at an average rate of 12 percent for the next two years. After

that the growth rate will fall to a long-run trend of 3 percent per year. What is the

price of 1 million ounces of gold produced in eight years? Assume that gold prices have

a beta of 0 and that the risk-free rate is 5.5 percent.

5. The Cambridge Opera Association has come up with a unique door prize for its

December (2004) fund-raising ball: Twenty door prizes will be distributed, each one

a ticket entitling the bearer to receive a cash award from the association on December

30, 2005. The cash award is to be determined by calculating the ratio of the level

of the Standard and Poor’s Composite Index of stock prices on December 30, 2005,

to its level on June 30, 2005, and multiplying by $100. Thus, if the index turns out

to be 1,000 on June 30, 2005, and 1,200 on December 30, 2005, the payoff will be

100 
 (1,200/1,000) 
 $120.

After the ball, a black market springs up in which the tickets are traded. What

will the tickets sell for on January 1, 2005? On June 30, 2005? Assume the risk-free interest

rate is 10 percent per year. Also assume the Cambridge Opera Association will

be solvent at year-end 2005 and will, in fact, pay off on the tickets. Make other assumptions

as necessary.

Would ticket values be different if the tickets’ payoffs depended on the Dow Jones

Industrial index rather than the Standard and Poor’s composite?

1 - On May 15, 1997, the government of Kuwait offered to sell 170 million BP shares,

worth about $2 billion. Goldman Sachs was contacted after the stock market closed in

London and given one hour to decide whether to bid on the stock. They decided to offer

710.5 pence ($11.59) per share, and Kuwait accepted. Then Goldman Sachs went looking for buyers. They lined up 500 institutional and individual investors worldwide, and resold all the shares at 716 pence ($11.70). The resale was complete before the London Stock Exchange opened the next morning. Goldman Sachs made $15 million overnight.

What does this deal say about market efficiency? Discuss.
